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IEGL K4 FEL B Total Hdep Net IRGE K4 EEL #WE Total Hdcp Net
Bz mw | 40] Al el 160l ol o FE s l 51 49] 100 21.0] 79.]
FEE ek B l 45] 39] 84 170 67.0 Togk o | 52] 47]  99] 19.0] 80.0]
' omoEtm | 6] 2] o0 220 es0l - A —EB | 4] 45] 89 90 800
Yo s [ 46] i 7 80 eeo| . #il B8 l 46 49] 95 150 80.]
° mg omm [ 44] 42] 86 16.0] 70.0| * sE oEe [ 53] 45] 98 150 83.0|
° ml gm | 42] 40] 82 12.0[ 700 Ty [ 46] 60] 106 220 840
T Em - | 40] 38] BG78[ sl 700] E#E 2% [ 54] 50[ 104 19.0] 850]
s | 42] 39]  81] 11.0] 700| Y kak z% [ 50] 46] 96 11.0] 850
° mm &3 [ 46] 38] 84 130] 71.0]

O m EmE [ 45] 44] 89 18.0[ 71.0]

" wE RE | 47] 39] 86 14.0[ 720|

" wm T [ 55] 54] 109 36.0[ 73.0]

BwmN [ 49] 44] 93] 200[ 730|

T | 42] 39] 81 80[ 730

© zm oz [ 48] 41] 89 16.0[ 730

Y wmn l 49] 45] 94 200] 740|

" Em om— [ 45] 50] 95 21.0] 740|

IR | 47] 43] 90 16.0[ 74.0|

YnmE Ex | 42] 45] 87 13.0] 740|

0 me g [ 46] 45] 91 16.0[ 750

2 g wa [ 46] 45]  91] 16.0] 75.0|

2 mE e- [ 52] 46] 98 220[ 76.0|

2 s omu [ 44] 44] 88 120] 76.0]

R — [ 54] 44] 98] 200] 78.0|

2w A | 46] 39] 85  70[ 780

Y awm omE [ 51] 45] 96 180[ 78.0]

7 mE [ 45] 45] 90 12.0[ 78.0]

o | 45] 50]  95[ 17.0[ 78.0]

2 mE AR | 46] 49] 95 16.0] 79.0|
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HOLE | 1 23 4 B e6 T 2B O 10 11 |12 |13 |14 | 15|16 | 17 | 18 Total

PAR 5| 4|43 |4|5|4|3|4136|4[5]|4|3]4[5]4]3]|]4]3] 72
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